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Change 1
	Template name
	f_TC_7_1_4_6_EUTRA()

	Reason for change
	In the following Test Procedure Steps of 7.1.4.6, the TTCN3 implementation mismatch with the description of the PASS condition:

1. in Step 4 and Step 8, the PASS condition is to verify if UE transmits a short BSR with 'Buffer size' value set to 6 or bigger; while the TTCN3 implementation in MAC_714.ttcn expects the value matching the pattern of ('??1000'B, '?1????'B, '1?????'B, '???11?'B), causing the value of 9 ~ 13 being regarded as FAIL even those values are comply with the test description

2. in Step 12 and Step 16, the PASS condition is to verify if UE transmits a short BSR with 'Buffer size' value set to 8 or bigger; while the TTCN3 implementation in MAC_714.ttcn expects the value matching the pattern of ('??1000'B, '?1????'B, '1?????'B), causing the value of 9 ~ 15 being regarded as FAIL even those values are comply with the test description

	Summary of change
	1. the matching pattern of ('??1000'B, '?1????'B, '1?????'B, '???11?'B) should be replaced by ('??1???'B, '?1????'B, '1?????'B, '???11?'B)
2. the matching pattern of ('??1000'B, '?1????'B, '1?????'B) should be replaced by ('??1???'B, '?1????'B, '1?????'B)

	TTCN module
	7_1/MAC_714.ttcn


Before change

	  function f_TC_7_1_4_6_EUTRA() runs on EUTRA_PTC

  { /* L2/MAC

       7.1.4.6 : Correct handling of MAC control information

    */

    var octetstring v_EncodedRlcPdu;

    var octetstring v_EncodedRlcPdu2;

    var octetstring v_EncodedPdcpPdu;

    var octetstring v_EncodedPdcpPdu2;

    var SubFrameTiming_Type v_Timing, v_Timing2;

    var DRB_COMMON_IND v_DRB_COMMON_IND;

    var SYSTEM_IND     v_SYSTEM_IND;

    timer t_Watchdog := 5.0;              // Local wait Timer

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    // creates cell and performs registration

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // Configure SS to report Scheduling Requests

    f_EUTRA_LoopBackActivation_State4_7146();

    // Configures SS DRB1 in MAC test mode.

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1, cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Step 1" siclog@

    // SS ignores scheduling requests and does not allocate any uplink grant

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Steps 3 - 7 - 11 - 15" siclog@

    // Preconfig SS for UL Grant of 32 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            0, 2); /* Nprb = 2, Itbs = 0     Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 0 -> Itbs = 0   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 2" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1Padding + 2 + 1  = 4B

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // Total MAC PDU = 4 + 12 + 12 = 28 B = 224b

    // This is not ideal way to encode to concatenate data at MAC, but is allowed as per core spec.

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(1, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_1Padding_ShortSubHeaders(tsc_LchId_DRB1,

                                                                                                        tsc_LchId_DRB1,

                                                                                                        v_EncodedRlcPdu,

                                                                                                        v_EncodedRlcPdu2))));

    //@siclog "Step 4" siclog@

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    t_Watchdog.start;

    alt {

      []SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))

        {

          repeat;

        }

      // the padding 2 bytes can be done in 2 allowed ways.

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1000'B, '?1????'B, '1?????'B, '???11?'B)) })) -> value v_DRB_COMMON_IND

        // received UL MAC PDU(Short BSR (LCGID='2';BS>=6)) @sicCRraised LCGID='3->2'

        // Check BSR value >=6

        {

          f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

          t_Watchdog.stop;

        }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1000'B, '?1????'B, '1?????'B, '???11?'B)) })) -> value v_DRB_COMMON_IND

        {

          f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

          t_Watchdog.stop;

        }

    }

    v_Timing := v_DRB_COMMON_IND.Common.TimingInfo.SubFrame;

    //@siclog "Steps 5 - 6" siclog@

    // receive SR after Retr-BSR timer expiry

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))-> value v_SYSTEM_IND;

    v_Timing2 := v_SYSTEM_IND.Common.TimingInfo.SubFrame;

    //@sic R5s100068 sic@

    if ((f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) > f_EUTRA_SetTimerToleranceMin(eutra_Cell1,l2Timer, 0.32)) and

        (f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) < f_EUTRA_SetTimerToleranceMax(eutra_Cell1, l2Timer, 0.32)))

      {

        f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 6: UE has sent SR after expiry of Retr-BSR timer");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE has sent SR before expiry of Retr-BSR timer ");

      }

    t_Watchdog.stop;

    //@siclog "Step 8" siclog@

    t_Watchdog.start;

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    alt {

      // received UL MAC PDU(Short BSR (LCGID='2';BS>=6)) @sicCRraised LCGID='3->2'

      // Check BSR value >=6

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1000'B, '?1????'B, '1?????'B, '???11?'B))}))

        { }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1000'B, '?1????'B, '1?????'B, '???11?'B))}))

        { }

    }

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 8");

    t_Watchdog.stop;

    //@siclog "Step 9" siclog@

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // Total MAC PDU = 1 + 12 = 13 B = 104b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2,

                                                                                             v_EncodedRlcPdu))));

    //@siclog "Step 10" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 10");

    t_Watchdog.stop;

    //@siclog "Step 12" siclog@

    t_Watchdog.start;

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    alt {

      // received UL MAC PDU (LCGID='2';BS>='8') @sicCRraised LCGID='3->2'

      // Check BSR value >=8

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1000'B, '?1????'B, '1?????'B))}))

        { }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1000'B, '?1????'B, '1?????'B))}))

        { }

    }

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 12");

    t_Watchdog.stop;

    //@sic R5-094426 sic@

    //@siclog "Step 13" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 2 + 1 = 3 B

    // 1 MAC SDU of 6 => RLC SDU= 4, PDCP SDU = 2

    // 1 MAC SDU of 6 => RLC SDU= 4, PDCP SDU = 2

    // Total MAC PDU = 3 + 6 + 6 = 15B = 120b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_2B)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_2B)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(1, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_ShortSubHeaders(tsc_LchId_DRB3,

                                                                                               tsc_LchId_DRB3,

                                                                                               v_EncodedRlcPdu,

                                                                                               v_EncodedRlcPdu2))));

    //@siclog "Step 14" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 14");

    t_Watchdog.stop;

    //@siclog "Step 16" siclog@

    //@sic CR raised (BS#2 -> BS#1;BS#3 -> BS#2) sic@

    t_Watchdog.start;

    DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cr_TimingInfo_Any,

                                        {cr_MAC_PDU_LongBSR (tsc_BS_0,

                                                             ('?????1'B, '????1?'B, '???1??'B, '??1???'B, '?1????'B, '1?????'B),

                                                             ('??1000'B, '?1????'B, '1?????'B),

                                                             tsc_BS_0)}))-> value v_DRB_COMMON_IND;

    v_Timing := v_DRB_COMMON_IND.Common.TimingInfo.SubFrame;

    // received UL MAC PDU Long BSR (BS#1=>1;BS#2>=8)

    // Check BSRs values >=1 or >=8

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 16");

    t_Watchdog.stop;

    //@sic R5-101179 sic@

    //@siclog "Step 19" siclog@

    // Preconfig SS for UL Grant of 424 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            2, 10); /* Nprb = 10, Itbs = 2     Table 7.1.7.2.1-1 of 36.213

                                                                       Imcs = 2 -> Itbs = 2   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Steps 17 - 18" siclog@

    // receive SR after Retr-BSR timer expiry

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))-> value v_SYSTEM_IND;

    v_Timing2 := v_SYSTEM_IND.Common.TimingInfo.SubFrame;

    if ((f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) > f_EUTRA_SetTimerToleranceMin(eutra_Cell1, l2Timer, 0.32)) and

        (f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) < f_EUTRA_SetTimerToleranceMax(eutra_Cell1, l2Timer, 0.32)))

      {

        f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 18: UE has sent SR after expiry of Retr-BSR timer");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 18: UE has sent SR before expiry of Retr-BSR timer ");

      };

    //@siclog "Step 20" siclog@

    alt {

      // order LCH 1, LCH 2 & LCH 3

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 1, LCH 3 & LCH 2

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 2, LCH 1 & LCH 3

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 2, LCH 3 & LCH 1

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    cr_Octet24_Any)}))

        {}

      // order LCH 3, LCH 1 & LCH 2

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 3, LCH 2 & LCH 1

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    cr_Octet24_Any)}))

        {}

      [] t_Watchdog.timeout

        {

          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: UE is not sending MAC PDU ");

        }

    };

    t_Watchdog.stop;

    //@sic R5s090377 sic@

    // Transmit RLC status PDU's to bring UE in stable state

    // It is assumed concatenation happens at RLC, hence one RLC PDU is send per Logical channel;

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB1,1);

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB2,1);

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB3,1);

    //@sic R5-110220 sic@

    //@siclog "Step 23" siclog@

    // Preconfig SS for UL Grant of 256 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            4, 4); /* Nprb = 4, Itbs = 4     Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 4 -> Itbs =4   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 21" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 2 + 1 = 3 B

    // 1 MAC SDU of 10 => RLC SDU= 8, PDCP SDU = 6

    // 1 MAC SDU of 9 => RLC SDU= 7, PDCP SDU = 5

    // Total MAC PDU = 3 + 10 + 10 = 23B = 144b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_6B)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(2, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_5B)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(2, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_ShortSubHeaders(tsc_LchId_DRB1,

                                                                                               tsc_LchId_DRB3,

                                                                                               v_EncodedRlcPdu,

                                                                                               v_EncodedRlcPdu2))));

    //@siclog "Step 22" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    //@siclog "Step 24" siclog@

    alt {

      // 2B SBR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 6 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_ShortBSR_2Subheader_Short_Padding (?,tsc_BS_0,

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            cr_Octet6_Any)}))

        { }

      // 2B SBR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 6 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_ShortBSR_2Subheader_Short_Padding (?,tsc_BS_0,

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            cr_Octet6_Any)}))

        { }

      // 4B LBSR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 4 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                            tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_LongBSR_2Subheader_Short_Padding (tsc_BS_0,tsc_BS_0,tsc_BS_0,tsc_BS_0,

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            cr_Octet4_Any)}))

        { }

      // 4B LBSR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 4 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_LongBSR_2Subheader_Short_Padding (tsc_BS_0,tsc_BS_0,tsc_BS_0,tsc_BS_0,

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                              cr_Octet4_Any)}))

        { }

    }

    t_Watchdog.stop;

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 24: UE has sent MAC PDU with buffer size set to 0");

    //@siclog "Step 25" siclog@

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB1,2);

    //@siclog "Step 26" siclog@

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB3,2);

    f_EUTRA_TestBody_Set(false);

    //test body ends

    ///////////////////////////////////////////////////////////////////////////////////

    //      Postamble

    //////////////////////////////////////////////////////////////////////////////////

    f_DelayForDLPDU_Tx(); //@sic R5s110036 R5s110740 delay added for SS to allow transmission of MAC PDU's carrying status PDU's sic@

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);

    // Configure SS to report Scheduling Requests

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB in DL only

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode); //@sic R5s100272 sic@

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // To deactivate test loop mode before RRC release

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE );//@sic R5-103875 sic@

  }; // end of 7.1.4.6


After change

	  function f_TC_7_1_4_6_EUTRA() runs on EUTRA_PTC

  { /* L2/MAC

       7.1.4.6 : Correct handling of MAC control information

    */

    var octetstring v_EncodedRlcPdu;

    var octetstring v_EncodedRlcPdu2;

    var octetstring v_EncodedPdcpPdu;

    var octetstring v_EncodedPdcpPdu2;

    var SubFrameTiming_Type v_Timing, v_Timing2;

    var DRB_COMMON_IND v_DRB_COMMON_IND;

    var SYSTEM_IND     v_SYSTEM_IND;

    timer t_Watchdog := 5.0;              // Local wait Timer

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init (c1);

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    // creates cell and performs registration

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0); // set null AS ciphering algorithm

    // Configure SS to report Scheduling Requests

    f_EUTRA_LoopBackActivation_State4_7146();

    // Configures SS DRB1 in MAC test mode.

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1, cs_MAC_TestMode_NoHeaderManipulationDL_UL);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2); // @sic R5-101050 sic@

    //@siclog "Step 1" siclog@

    // SS ignores scheduling requests and does not allocate any uplink grant

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Steps 3 - 7 - 11 - 15" siclog@

    // Preconfig SS for UL Grant of 32 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            0, 2); /* Nprb = 2, Itbs = 0     Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 0 -> Itbs = 0   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 2" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1Padding + 2 + 1  = 4B

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // Total MAC PDU = 4 + 12 + 12 = 28 B = 224b

    // This is not ideal way to encode to concatenate data at MAC, but is allowed as per core spec.

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(1, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_1Padding_ShortSubHeaders(tsc_LchId_DRB1,

                                                                                                        tsc_LchId_DRB1,

                                                                                                        v_EncodedRlcPdu,

                                                                                                        v_EncodedRlcPdu2))));

    //@siclog "Step 4" siclog@

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    t_Watchdog.start;

    alt {

      []SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))

        {

          repeat;

        }

      // the padding 2 bytes can be done in 2 allowed ways.

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1???'B, '?1????'B, '1?????'B, '???11?'B)) })) -> value v_DRB_COMMON_IND

        // received UL MAC PDU(Short BSR (LCGID='2';BS>=6)) @sicCRraised LCGID='3->2'

        // Check BSR value >=6

        {

          f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

          t_Watchdog.stop;

        }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1???'B, '?1????'B, '1?????'B, '???11?'B)) })) -> value v_DRB_COMMON_IND

        {

          f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 4");

          t_Watchdog.stop;

        }

    }

    v_Timing := v_DRB_COMMON_IND.Common.TimingInfo.SubFrame;

    //@siclog "Steps 5 - 6" siclog@

    // receive SR after Retr-BSR timer expiry

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))-> value v_SYSTEM_IND;

    v_Timing2 := v_SYSTEM_IND.Common.TimingInfo.SubFrame;

    //@sic R5s100068 sic@

    if ((f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) > f_EUTRA_SetTimerToleranceMin(eutra_Cell1,l2Timer, 0.32)) and

        (f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) < f_EUTRA_SetTimerToleranceMax(eutra_Cell1, l2Timer, 0.32)))

      {

        f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 6: UE has sent SR after expiry of Retr-BSR timer");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE has sent SR before expiry of Retr-BSR timer ");

      }

    t_Watchdog.stop;

    //@siclog "Step 8" siclog@

    t_Watchdog.start;

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    alt {

      // received UL MAC PDU(Short BSR (LCGID='2';BS>=6)) @sicCRraised LCGID='3->2'

      // Check BSR value >=6

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1???'B, '?1????'B, '1?????'B, '???11?'B))}))

        { }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1???'B, '?1????'B, '1?????'B, '???11?'B))}))

        { }

    }

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 8");

    t_Watchdog.stop;

    //@siclog "Step 9" siclog@

    // 1 MAC PDU = 1 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 1B

    // 1 MAC SDU of 12 => RLC SDU= 10, PDCP SDU = 8

    // Total MAC PDU = 1 + 12 = 13 B = 104b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_L8)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_NoPadding_RLCPDU_LCID(tsc_LchId_DRB2,

                                                                                             v_EncodedRlcPdu))));

    //@siclog "Step 10" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 10");

    t_Watchdog.stop;

    //@siclog "Step 12" siclog@

    t_Watchdog.start;

    //@sic CR raised acc. to CR R2-093439 sic@

    //36.321, section 6.1.2

    alt {

      // received UL MAC PDU (LCGID='2';BS>='8') @sicCRraised LCGID='3->2'

      // Check BSR value >=8

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_ShortBSR_2Padding('10'B, ('??1???'B, '?1????'B, '1?????'B))}))

        { }

      []DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cr_TimingInfo_Any,

                                            {cr_MAC_PDU_2Padding_ShortBSR('10'B, ('??1???'B, '?1????'B, '1?????'B))}))

        { }

    }

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 12");

    t_Watchdog.stop;

    //@sic R5-094426 sic@

    //@siclog "Step 13" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 2 + 1 = 3 B

    // 1 MAC SDU of 6 => RLC SDU= 4, PDCP SDU = 2

    // 1 MAC SDU of 6 => RLC SDU= 4, PDCP SDU = 2

    // Total MAC PDU = 3 + 6 + 6 = 15B = 120b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN0, crs_PDCP_SDU_2B)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(0, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN1, crs_PDCP_SDU_2B)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(1, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_ShortSubHeaders(tsc_LchId_DRB3,

                                                                                               tsc_LchId_DRB3,

                                                                                               v_EncodedRlcPdu,

                                                                                               v_EncodedRlcPdu2))));

    //@siclog "Step 14" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 14");

    t_Watchdog.stop;

    //@siclog "Step 16" siclog@

    //@sic CR raised (BS#2 -> BS#1;BS#3 -> BS#2) sic@

    t_Watchdog.start;

    DRB.receive(car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                        tsc_RbId_DRB1,

                                        cr_TimingInfo_Any,

                                        {cr_MAC_PDU_LongBSR (tsc_BS_0,

                                                             ('?????1'B, '????1?'B, '???1??'B, '??1???'B, '?1????'B, '1?????'B),

                                                             ('??1???'B, '?1????'B, '1?????'B),

                                                             tsc_BS_0)}))-> value v_DRB_COMMON_IND;

    v_Timing := v_DRB_COMMON_IND.Common.TimingInfo.SubFrame;

    // received UL MAC PDU Long BSR (BS#1=>1;BS#2>=8)

    // Check BSRs values >=1 or >=8

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 16");

    t_Watchdog.stop;

    //@sic R5-101179 sic@

    //@siclog "Step 19" siclog@

    // Preconfig SS for UL Grant of 424 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            2, 10); /* Nprb = 10, Itbs = 2     Table 7.1.7.2.1-1 of 36.213

                                                                       Imcs = 2 -> Itbs = 2   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Steps 17 - 18" siclog@

    // receive SR after Retr-BSR timer expiry

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?))-> value v_SYSTEM_IND;

    v_Timing2 := v_SYSTEM_IND.Common.TimingInfo.SubFrame;

    if ((f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) > f_EUTRA_SetTimerToleranceMin(eutra_Cell1, l2Timer, 0.32)) and

        (f_EUTRA_SubFrameTimingDuration_Float(v_Timing, v_Timing2) < f_EUTRA_SetTimerToleranceMax(eutra_Cell1, l2Timer, 0.32)))

      {

        f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 18: UE has sent SR after expiry of Retr-BSR timer");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 18: UE has sent SR before expiry of Retr-BSR timer ");

      };

    //@siclog "Step 20" siclog@

    alt {

      // order LCH 1, LCH 2 & LCH 3

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 1, LCH 3 & LCH 2

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 2, LCH 1 & LCH 3

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 2, LCH 3 & LCH 1

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    cr_Octet24_Any)}))

        {}

      // order LCH 3, LCH 1 & LCH 2

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    int2bit(24,7),

                                                                                    cr_Octet24_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    cr_Octet12_Any)}))

        {}

      // order LCH 3, LCH 2 & LCH 1

      []DRB.receive (car_DRB_COMMON_IND_MAC (eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_3Subheader_Short_NoPadding(tsc_LchId_DRB3,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB2,

                                                                                    int2bit(12,7),

                                                                                    cr_Octet12_Any,

                                                                                    tsc_LchId_DRB1,

                                                                                    cr_Octet24_Any)}))

        {}

      [] t_Watchdog.timeout

        {

          f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 20: UE is not sending MAC PDU ");

        }

    };

    t_Watchdog.stop;

    //@sic R5s090377 sic@

    // Transmit RLC status PDU's to bring UE in stable state

    // It is assumed concatenation happens at RLC, hence one RLC PDU is send per Logical channel;

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB1,1);

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB2,1);

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB3,1);

    //@sic R5-110220 sic@

    //@siclog "Step 23" siclog@

    // Preconfig SS for UL Grant of 256 bits

    f_EUTRA_StartExplicitULGrantTransmissionOnSR_Reception( eutra_Cell1,

                                                            cs_TimingInfo_Now,

                                                            4, 4); /* Nprb = 4, Itbs = 4     Table 7.1.7.2.1-1 of 36.213

                                                                      Imcs = 4 -> Itbs =4   MCS index of table 8.6.1-1 of 36.213 */

    //@siclog "Step 21" siclog@

    // 1 MAC PDU = 2 RLC PDU; 1RLC PDU =1 PDCP PDU

    // MAC Header = 2 + 1 = 3 B

    // 1 MAC SDU of 10 => RLC SDU= 8, PDCP SDU = 6

    // 1 MAC SDU of 9 => RLC SDU= 7, PDCP SDU = 5

    // Total MAC PDU = 3 + 10 + 10 = 23B = 144b

    v_EncodedPdcpPdu  := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_6B)));

    v_EncodedRlcPdu   := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(2, 10), v_EncodedPdcpPdu));

    v_EncodedPdcpPdu2 := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(cs_PDCP_DataPdu_LongSN(tsc_B12_SQN2, crs_PDCP_SDU_5B)));

    v_EncodedRlcPdu2  := f_RLC_PDU_Encvalue (cs_RLC_AMD_1PDU(tsc_NoPoll, int2bit(2, 10), v_EncodedPdcpPdu2));

    DRB.send (cas_DRB_COMMOM_REQ_MAC_PDU (eutra_Cell1,

                                          tsc_RbId_DRB1,

                                          cs_TimingInfo_Now,

                                          cs_MAC_PDUList_1 (cs_MAC_PDU_2RLCPDU_ShortSubHeaders(tsc_LchId_DRB1,

                                                                                               tsc_LchId_DRB3,

                                                                                               v_EncodedRlcPdu,

                                                                                               v_EncodedRlcPdu2))));

    //@siclog "Step 22" siclog@

    t_Watchdog.start;

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?));

    //@siclog "Step 24" siclog@

    alt {

      // 2B SBR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 6 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_ShortBSR_2Subheader_Short_Padding (?,tsc_BS_0,

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            cr_Octet6_Any)}))

        { }

      // 2B SBR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 6 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_ShortBSR_2Subheader_Short_Padding (?,tsc_BS_0,

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            cr_Octet6_Any)}))

        { }

      // 4B LBSR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 4 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                            tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_LongBSR_2Subheader_Short_Padding (tsc_BS_0,tsc_BS_0,tsc_BS_0,tsc_BS_0,

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            cr_Octet4_Any)}))

        { }

      // 4B LBSR+ 4 B MAC SH + 1 B MAC Pad SH+ 10 B+ 9 B+ 4 B Pad = 32 B with short BSR

      [] DRB.receive( car_DRB_COMMON_IND_MAC(eutra_Cell1,

                                             tsc_RbId_DRB1,

                                             cr_TimingInfo_Any,

                                             {cr_MAC_PDU_LongBSR_2Subheader_Short_Padding (tsc_BS_0,tsc_BS_0,tsc_BS_0,tsc_BS_0,

                                                                                            tsc_LchId_DRB3,int2bit(9, 7), cr_Octet9_Any,// UE shall poll

                                                                                            tsc_LchId_DRB1,int2bit(10, 7), cr_Octet10_Any, // UE shall poll

                                                                                              cr_Octet4_Any)}))

        { }

    }

    t_Watchdog.stop;

    f_EUTRA_PreliminaryPass (__FILE__, __LINE__, "Step 24: UE has sent MAC PDU with buffer size set to 0");

    //@siclog "Step 25" siclog@

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB1,2);

    //@siclog "Step 26" siclog@

    f_RLC_Status_PDU_Tx (tsc_LchId_DRB3,2);

    f_EUTRA_TestBody_Set(false);

    //test body ends

    ///////////////////////////////////////////////////////////////////////////////////

    //      Postamble

    //////////////////////////////////////////////////////////////////////////////////

    f_DelayForDLPDU_Tx(); //@sic R5s110036 R5s110740 delay added for SS to allow transmission of MAC PDU's carrying status PDU's sic@

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);

    // Configure SS to report Scheduling Requests

    // step to configure SS RLC/PDCP and MAC in No header manipulation mode on SS Side for DRB in DL only

    f_SS_Config1TM_DRB_NoMACHeader(eutra_Cell1, tsc_RbId_DRB1,cs_MAC_TestMode_NormalMode); //@sic R5s100272 sic@

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // To deactivate test loop mode before RRC release

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // Release RRC Connection and Switch off

    f_EUTRA_Postamble(eutra_Cell1, E3_TESTMODE );//@sic R5-103875 sic@

  }; // end of 7.1.4.6


